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sewflesll 9nleSlwed / COMPUTER SCIENCE

(sl wHmID Y mdle eufl / Tamil & English Version)

ST 2ferey : 3.00 wewtl GBI | [ Qs wutluearger : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

Silejemraer : (1)

Instructions :
GOl = ()

(ii)
Note : (i)

(i)

(2)

Slamanggl ellenmss@Enn Fflwrs uSleurd o 6reTgT eramUSEMET FiHlLIMTESE
OameTeraybd. S&F&HLILIF a0 GampullmLilen, emms seamareaniliimerfliLb
o L amnquings Qgtlelssea .

!ga)Lb g sSBUY obulmer WILEHCL W USHGSLWD,
23 &5GHTI(HaugnGL Lwearl(ss Ceuam(Hb. LLBISGE alaFelsnd
QuenFled LiwemI(HSSeLD.

Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@ -1 /PART -1

SemeSHG NaTESHEHEGD allen_ieT&seLD. 15x1=15

Qarhssiul(heter mrest@ LrHM el sefle WEa D emHLjenLul
devLeows CsmrldsOsgs GMULBLa aloLwlmaryn Carsg
CT(LPSELD.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.
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1.

eThg SantllCurd genaipenmuiled emmiSlenanhg &HMsGET LWaTLHSSILLL g ?
(1) ePETDITLD SHENEV(LPENM (<) WPHOMD SN (LPEND

(@) BrET&MID SenaLPEnM (FF) @QUewTL_mb SeneLpenm

Which generation of computer used IC’s ?

(a) Third generation (b)  First generation

(c) Fourth generation (d) Second generation

ua&Gs GSWHD edleurmsmers $elTEg, Seuslwwrareihenm L (HGWL GOl&EED
Uenfludler DFmIGET eTan DHmP&sLILIHeUG)

(<) p@rEoassd (<) efleugs @Bl

(@) Wfgse (FF) SA(HeULDTESLD

Omitting details inessential to the task and representing only the essential features of the task
is known as :

(a) Composition (b)  Specification

(c) Decomposition (d) Abstraction

EDESTENLD L &G TSSO (Pevpn @IBIGLD ?

i:=0
whilei # 5
i:=i1+1
(1) 6 (=) 4 (&) 0 (rF) 5

How many times the loop is iterated ?

i:=0
whilei # 5
i:=i+1

@ 6 b) 4 © 0 d) 5
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EpssaT_supmier ergl euenrlludeme GeFupH@lurghd ?

(1) > (<) :: (&) & (/) %

Which of the following is the scope operator ?

(@ > b) :: © & @ %

Coamaiwpm Weanarehsana =i(HSSeTsEhsE Uflbmmob CFuiag T
S@P&SLILMHE DS

(=) 26Tlp6d (<=y,) Comrgig (@) evieel9m (/) evGuid

Distributing unwanted e-mail to others is called

(a) scam (b) fraud (c) spoofing (d) spam

C++ -0 aaid dewp@m &6 wrHl deup@Eolurs LwerUhSsL-
SCEAIES

(1) - (<=$) + (&) -+ () =

In C++ is used for pointer to a variable.

@ - (b) + (© = (d) *

Yemaumeuameudmled erg mienpe| Camrdll L &g, ?

(<) if (<) for (@) do-while (FF) switch
Which of the following is the Entry Control loop ?

(@) if (b) for (c) do-while (d) switch
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8.

uflrhpsdnarear &L a@iwdew QFudUBSSHeIS
(1) Wlenangm srey LTHHLD

(<) Wenanaml Hre 261 LflorHmLd

(8) srey ear uflmHod

(rF) Wlememam rey Lflorhmid

Legal recognition for transactions are carried out by :

(a) Electronic Data Transfer

(b) Electronic Data Interchange

(c) Data Interchange

(d) Electronic Data Exchange

STeUEHEMETU|D, CFLINFMIFMETUD 6 CILIMIHET ETETEID EUEMTIIEDEEGET RETMTSL]
Yenenrgg eneud@Ld ClFwemLLID :

(1) SI(HeULTSSLD (<)) LOQI(HEITEHSLD
(@) wryflob (FF) 2 anpOurdlurssn

The mechanism by which the data and function are bound together into a single unit is
known as :

(a) Abstraction (b)  Polymorphism

(c) Inheritance (d) Encapsulation



10.

5
#include<iostream>
using namespace std;
int main()
{
int 1=1, sum=0;
while(i<=10)
{
sum=sum-+i;
it+;
}
cout<<sumy
return 0;
}
GCav 2 drer Hlredem Geuaflui® wimg ?
(1) 55 (=) 54 (&) 51
#include<iostream>
using namespace std;
int main()
{
int i=1, sum=0;
while(i<=10)
{
sum=sum-+i;
it+;
}
cout<<sum;
return 0;
}
The output for the above snippet is :
(@) 55 (b) 54 (c) 51

(d)

50
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11.

12.

13.

14.

gremyiiseted e Camlider wmEuwil Lwea®SsLIUGD EGnEGeY el :

(1) F5 (=) F2 (&) Fo () F4
The shortcut key used to rename a file in Windows.
(@) F5 (b) F2 (c) Fé (d) F4

Yemeu@md  (patellqe]sH@E SpssaTLeuDmer Hs UsH @QuEsLu@D  ?
add display(add &); // add erenig) @Qend@padlen GlLwi.

() Bo A5 (<) sTamenoe] &5

(@) ST mESHET Qevwrs &S (FF) A6TL(HSSHEHL 6T Falgll &5

Which of the following constructor is executed for the following prototype ?
add display(add &); // add is a class name.

(a) Copy Constructor (b) Default Constructor

(c) Non-Parameterized Constructor (d) Parameterized Constructor

sanflGlurdluden enwwd CFwesssle 19°(Haetlar erameantldans ereueumm @GN LI-
umdog ?

(@) Gauii@® famd (<) oLt (@) 9 () Bide
Which refers to the number of bits processed by a computer’s CPU ?
(a) Word length (b) Byte (c) Bit (d) Nibble

oar_m(H @QW&S SenoliL] UPBIGD eusd

<9|) 2 arepwrer CrrL CFwerssLd

(

(<) 76| eNHlGuTsD

(@) urgsmriy GCererreno

(FF) GUenT&emed LIWETT @)enL (LpsLd
Interactive operating system provides :
(a) Real Time Processing

b) Data Distribution

(
(c) Security Management
(

&

Graphics User Interface
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15. MAereumeuaeummie ergl e CISC Glawedl <@ ?
(1) Pentium IIT (<4, ) Intel P6 (@) Pentium IV (rF) AMD K6

Which of the following is a CISC processor ?

(@) Pentium III (b) Intel P6 (c) Pentium IV (d) AMD Ke

L@&d - 11/ PART - I

SO : eTemauCuenid ymi elarTés@hds@ ellenwellEsea|b. afarm eremr 24 -&@S

SL_LTwong elenL wefl&sa . 6x2=12
Note : Answer any six questions. Question No. 24 is Compulsory.
16. psarend Hlenareusd wHMID Qe b Hlane Hleavarausd — CoumiLhSois.

Distinguish Primary and Secondary Memory.

17. (1324)g -6 Hlarrer LFETID 6TamrenTTs IHmis.

(1324)4 - convert to equivalent Decimal number.

18. Lo LWETT @QUIGs HenLDLIL| GTGIMTE) GT6TE ?

What is Multi user operating system ?

19. const Apliy Qemed LHM THSFHSSTL(HLer Slm GO 6T(PSIs.

Write a short note on const keyword with example.

20. void gre| euamsuden (P& WSFIEUBISET WTEnE ?
What are the importance of void data type ?
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21. QUG GTEIMTE) 6T ?

What are Warez ?

22, gulp Csameusamer alpmidl aumb Cah Curmaameris UL iquisd(Hs.

List the search engines supported by Tamil Language.

23. QpMlpen — uaTM&ESHe|D.

Define an algorithm.

24. emeu@pd Hleden Qeuafuiien er(pgis.
#include<iostream>
using namespace std;
int main()
{
int i;
for(i=0;i<8;i++)
cout<<i<<endl;
return 0O;
}
Write the output of the following program.
#include<iostream>
using namespace std;
int main()
{
int 1;
for(i=0;i<8;i++)
cout<<i<<endl;

return 0O;



?

L@&d - 1/ PART - III
GO : gsTeug Hm elarss@Ensd el weflésen. oferm eraw 33 -&@
SL_Lmwwng 6denL_wef&se|w. 6x3=18
Note : Answer any six questions. Question No. 33 is Compulsory.
25. m &PHE Quiigewi updls GOl euamrs.

Write a note on Recycle bin.

26. @ Qens@Geamel SHelsEGLEUNg sSeuarssld Gamerer GouemTiqimel WTemel ?

What are the points to be noted while deriving a class ?

27.  GApdepenpuler, Hleva ereveurm GOl LiLGdlerng ?

How is state represented in algorithms ?

28. XOR eumudlellen Gl iquich 6T(LpgIs.
Give the Truth Table of XOR gate.

29. isupper() wHMID toupper( ) CFwpammsaienr Ceumumr® wrg ?
What is the difference between isupper( ) and toupper( ) functions ?

30. CD wpmid DVD — Gaumu(hs)s.
Differentiate - CD and DVD.

31. Slevrwssslen GOLAL 565 Splidwueoysmeris Lndl 6T(psgis.

Write the significant features of monitor.

32.  ojanfl rammed eremesr ? OIS CUHEHENET 6T (LDG)S.

What is an array ? Write its types.

33. do-while L &dlemar LweTLHSH 5 (Psed 1 aueny 2 6Tem erawrgener Gleuafludl C++

Blrenav 6r(Lpgis.

Write a C++ program to display number from 5 to 1 using do-while loop.
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U@&3 - IV / PART - IV

GO : Semeusgl HaTssErdsEh e weaflsseab. 5x5=25
Note:  Answer all the questions.
34. (&) e safluCumrdluder oiqliuemL UTEhIGmeTS Ggefleurar afleTssliLL gL 6

cllems @ s.

S|6060F)
(=) ureusd Quiss a6 sMHSSIMH LD eflersEs. CLoaId ST LiweT(H&6T
wrened ?

(a) Explain the basic components of a computer with a neat diagram.
OR

(b)  Explain the concept of a Distributed Operating System along with its advantages.

35. (=) Yemau(meuamaumenm QbHlenew erem allgeied Fnl (hs.
@ (=21)19+ )10 (i) (=12)19+(15)g
360605
(=) Qewupaam veaflWl@GLly erermmed eremer ? GFwWmhanm Lewt LSl @ Lk nasTer
Sl penmser wireneu ?
(a) Perform binary addition for the following.
@ (=21)19+ )10 (i)  (=12)19+(15)g
OR

(b) What is function overloading ? What are the rules for function overloading ?

36. (=) ROM -aif euangsenaTil Lmml eIeT&EHIns: 6T (Lps)s.
S|V
(<) if-else wHMID switch FOHMIFERSSenL_Cuwirer sl CoumurhsEemeT 6T (psg)s.
(a) Explain about the types of ROM.

OR

(b) Write the differences between if-else and switch statement.
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(=) CQeueflli L& erampred erananr ? gGasayd eparm Ceuaflluil () Frgermbigamar

(a)

(<) Wemeumd Flyedlen, Geuafluieni er(pg)s.

(b)

ellemd @ s.

What is an output unit ? Explain any three output devices.

Write the output of the following program.

3jevevg) [ OR

#include<iostream>

using namespace std;

class student

{

I

int rno, marks;
public:

student(int r,int m)

cout<<"Constructor'"<<endl;
IMo=r;

marks=m;

void printdet( )

marks=marks+30;
cout<<"Roll no :"<<rno<<"\n";

cout<<"Marks :"<<marks<<endl;

}

int main( )

{

student s(14,70);
s.printdet( );
cout<< "Back to Main";

return 0;
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38. () wryflngdler uwCeaim cuamssamer alleulase .
(a) Explain the different types of inheritance.
3l6vevg| [ OR

(<) Wemeumid C++ Blredleb 2 amer enipgener H(Hss)s.
(b) Debug the following C++ program.

Output :

Total area : 35

Program :

%include<iostream>

using namespace std:
CLASS Shape
{
Private ()
int count
Protected;
int width;
int height;
PUBLIC;
Void setwidth [int w]
{
%
void setheight (int h)
{

}

width=w;

height=h;

)
Class rectangle : : Public Shape

{
Public

int getarea [ ]

{
I
}

int MAIN( )
{

return (width * height);

rectangle rect :

rect. setwidth(5);

rect.setheight(7);

cout>>"Total area : "<<rect.getarea( )<<endl;
return 0O;

-00o0-



